Dividing Z—di@iJr humbers by |—o|igi+ with no remainders

13.

7) 63 2. 4)44 3. 6)42 4.7‘42
4)48 6. 8)24 7. 8;80 8. 9)_81_

3)_9'0_ 10. 5)‘50_ 11. 6 )‘3‘()— 12. 5)_3'0_

7)‘2‘8— 14. 2)‘3‘# 15. 2 )-44— 16. 6)—6'6—




‘

Answer Key

13.

7; 63

12

4y a8

30

3)_9'0_

11

2. 4) 44

6. 8;24

10

10. 5)_50_

3. 6;42

10

4. 7,42

8. 9)_8'1_




Dividing Z—di@iJr humbers by |—o|i3i+ with no remainders

13.

6) 30 2. 5)90 3.7;77 4.5,55
8) 86 6. 6) 24 7. 5)_6'5_ 8. 8)7l'0_

9)_9'9_ 10. 5)71'5_ 11. 2 )‘5‘0_ 12. 6)_60—




Answer Key

13.

6;30

12

8;86

11

9)_9'9_

18

2. 5;90

6. 6;24

10. 5)71'5_

13

11

4. 5,55

8. 8)7l'0_

11

12. 6)‘6?

12

16. 5)—6'6—




Dividing Z—di@iJr humbers by |—di3i+ with no remainders

13.

3) 39

2) 60

2)71'0_

4y 72—

2. 2) 14 3. 8)64 4.7,56
6. 3) 63 7. 3;2[2 8.3;96

10. 5)_9'0_ 11. 6 )_811_ 12. 7)‘9’8_

14. 9)—5'4_ 15. 7 )—7'9— 16. 5)—9'5—




‘

Answer Key

13.

13

3;39

30

2;60

20

2)71'0_

18

2. 2; 14

21

6. 3;63

18

10. 5)_9'0_

6
14. 9)_5'4_

3. 8;64

14

4. 7,56

32

8. 3)_9'6_

19

16. 5)—9'5—




Dividinﬂ 2—oli3i+ humbers Iay l—cliaH' with remainders

13.

2) 25 2. 5)98 3. 3)74 4.9,58
7) 93 6. 4) 38 7. 7;87 8. 4)_57_

8)_2'9_ 10. 7)_82_ 11. 3 )71'7'_ 12. 3)_7'3_




Answer Key

13.

12rl

2;25

13r2

7;93

8)_3'I"5_

29

73

1913

2. 5;98

or2

6. 4;38

1115

10. 7)_82_

11.

15.

2412

3;74

1213

7)_8'7_

15r2

19r4

6 r4

4. 9,58

14 rl1

8. 4)_57_

24rl

12. 3)_7'3_




Diviolinﬂ 2—cli3i+ humbers Iay l—cliaH' with remainders

13.

3) 40 2. 3)85 3. 2)31 4.6,40
4) 87 6. 5) 39 7. 5;29 8. 8)_9'1_

5)_67!_ 10. 2)7I'7_ 11. 3 )‘92_ 12. 7)-%—

5)—4‘3— 14. 3)—1'7— 15. 3 )—8'8— 16. 7)—4'5—




Answer Key

13.

13rl1

3;40

21r3

4;87

12 r4

5y31__

813

28r1

2. 3;85

714

6. 5;39

23r1

10.2Yﬂ7__

512

14.371?“

15rl1

3. 2;31

6r4

4. 6,40

11r3

8. 879T__




Dividina Z—digiJr humbers by l—cliai’r with remainders

13.

7) 86 2. 5)51 3. 3)37 4.9,41
8) 98 6. 5) 82 7. 7;22 8. 8)_8'3_

8)79_ 10. 4)‘3‘0— 11. 6 )‘7“1_ 12. 9)11'7_

3)—‘7'1— 14. 6)—29_ 15. 8 )—8-7— 16. 3)—8-6—




Answer Key

13.

1212

7;86

1212

8;98

6ril

8y 49—

23r2

3)—‘7“1_

10r1

2. 5)51

l6r2

6. 5;82

712

10. 4)_3'0_

4rl

14. 6)‘29_

11.

15.

12r1

3;37

3rl

7;22

1115

10r1

4rl

4. 9,41

10r3

8. 8)_8'3_

or2

12. 9)11'7'_

2812

16. 3)—8-6—




